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Instructions for the candidates :-

1 Teneft gemivg v vl # # 9w 9
Candidates are required to give the:ir answers in their own words
as far as practicable.

2 IR AR Bl wr 33 gu o guifes Fffe oxd &

Figures in the right hand margin indicate full marks.

3, T UA B AES ug @ forg 15 fme o sfiRad o fear w2
15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

4 I8 YU T wWuel 4 R, @ue—3] U4 @ug—q |
This question paper is divided into two sections ° Section-A and
Section-B.
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In Section-A, there are 50 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use WhiteneflLiquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.
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In Section-B, there are 22 short answer type questions. (Each
question carrying 2 marks), out of which any 15 questiions
are to be answered. Apart from this there are 8 long Answer
Type questions (Each carrying 5 marks). Answer any four of
these.
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Use of any electronic device is prohibited.
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Section A (Objective Type Question)

g9 T 1 W 50 O9F D UAF U b 9 IR e iy g fH ¥
FE 2| o gRT g1 Y WE fAdey B OMR e W fafed #¥1 50 X1 = 50

Questions No. 1 to 50 have four options, out of which only one is correct.

You have to mark, your selected options, on the OMR-sheet. 50 x 1 =30

1. B e &5 @ w=fa g ?
¢
A. wrafi® &= B. fgdus &=
C. g &3 D. 57 & 18 &l

“Agriculture” is related to which sector?
A. Primary Sector B. Secondary Sector
C. Tertiary Sector D. None of these

2. R 39 &1 ALY AT ARG BIAT 8 I§ QY bEA & —

A. srgfasira B. fasfa
C. sfapfa D. 579 g g

A country which has a high national income is called -
A. Underdeveloped B. Developed

C. Undeveloped D. None of these



DI sefgaver Yolldre Ud |aredie & 4rd &I KT & —
A. Usiare) srefergwen B. wHISIaTdT Jeferawen
C. faf3ra srefegawen D. 574 I3 5l

Which economy is a middle ground between Capitalism and

Socialism?

A. Capitalist Economy B. Socialist Economy
C. Mixed Economy D. None of these
YREd! Ugadta e o Fafy @ off ?

A. 2007-2012 B.2008-2013

C. 2009-2014 D. 2010-2015

What was the period of eleventh five year plan?

A. 2007-2012 B. 2008-2013
C. 2009-2014 D. 2010-2015
AP $ SR fIER B -

A o 2 B. g 2

C. @™ Td gif 31 2 D. g7 @13 el

As a result of globalization Bihar has -
A. Benefited

B. Suffered Losses

C. Both benefited and suffered losses

D. None of these



1 GikegeT T & AR ¥ 2004—05 H WRA BI Ufd—eafeT 3mg

o=
A. SITHIT 24,000 B. STHIT 25,000
C. T THIT 30,000 D. |HIT 35,000

India’s per-capita income in year 2004-05 was -
A. approximately 24,000 B. approximately 25,000
C. approximately 30,000 D. approximately 35,000

R ]
af 2011—12 § fagR & ufa—<afe ema of —
A. 0 23,525 B. %0 22,800
C. &0 25,000 D. %0 24,000

Bihar's per-capita income in year 2011-12 was -

A. Rs. 23,525 B. Rs. 22,800

C. Rs. 25,000 D. Rs. 24,000

fre PeT — “amyfie favg § SuUNT Yg1 w0 a9 aRv By gL E |
A. "o i B. #mefel

C. HIEeR D. g¥@ie

Who said — “In the modern world industry is closely enfolded in the
garment of money”.
A. Prof. Pigou B. Marshall

C. Crowther D. Trescott



10.

11.

W% FEgar 99 ¥ fhos wew g € ?

A 15 9 20 B. 25 ¥ 30

C. 35 9 40 D. g% 9§ ®I3 el

How many members are there in a Self-Help Group?

A. 15to 20 B. 25 to 30

C. 35t0 40 D. None of these
WWW(SHGSWWWWWWWW%—
A % g1 B. 9l &N

C iR - Gvord wE g} D. 5T ¢ A

In a Self Help Group (SHGS) the decisions regarding saving and
loan activities are made by -

A. Bank B. Members

C. Non-government group D. None of these

AR B gRT e &R H YR A T —

A. T AT BT B. fasfid st & il b1

C. famragiel a9t § SEIRT F1 D. T74 ®Ig el

Globlisation has led to improvement in standard living of -

A. All the people

B. People in the developed countries

C. Workers in the developing countries

D. None of these



12.

13.

T ® I & —
A. faffrma &1 Aras B. g &1 AIUH
C. Jed &1 Had D. SR |+t

Function of Money is -
A. Medium of exchange B. Measure of value
C. Store of value D. All of these

YRT & 1 B0 BT PIATON Alc SN fHar Aar & —
A o= WeR & fog fwrr gmr !

B. Red 9% 3ife gfdear gr

C.xt & ofw sfosar grr

D. ¥igal 4% 3w 3fsar gm

In India currency note of Rs. 1 is issued by -
A. Finance Minjstry of Central Government
B. Reserve Bank of India

C. State Bank of India

D. Central Bank of India



14.

15.

16.

B A AaT T TR IR—ARBRT B ?
A. f&= dar B. 9= 97
C. g &R D. Y& Har

Which service is completely non-government service ?

A. Finance service B. Military service
C. Retail trade D. Rail service
e I 4 fafer &1 A @ -

I
A T8 B. ga1
C. |11 &1 Ryap! D. g7 it

In modern era the Medium of exchange is -

A. goods B. currency

C. gold coins D. All of these
IS fadbr uReg &1 T3+ fohar T o —

A. 6 RIdwR, 1952 &I B. 6 31, 1952 &Y
C. 6 31T, 1952 &I D. 6 31, 1953 &I

The National Development Council was established on -
A. 6" September, 1952 B. 6™ April, 1952

C. 6 April, 1953 D. 6" August, 1953



17.

18.

19.

e feharell &1 9o Blar & —
A. Shfaearst B. FRwA
C. SUdIT D.AQET_CHﬁ’rﬁ

The purpose of economic activities is -
A. Earning livelihood B. Entertainment
C. Consumption D.BothAand C

i faer &1 IR — onfdfe R #F 2 ?

A TS HamE B. arifoie wwemd

C. oot fasr D. @119 HHEHA

Which of these is non-economic factor of economic development?

A. Natural resources B. Social organisations

C. Technical Progress D. Human resources

IAfed SaE gfg | e e # Tfy -
A T 8 ST 2 B. 9= VEdT ®
C. #T & W 2 D. amgifad &< 2

Due to excessive population growth, the rate of economic growth -
A. increases B. remains constant

C. drops D. remains unaffected



20.

21.

22.

feeR @) Iy ® |aifde IrTe g & —
A TN &ax &1 B. 3ienflrs &3 &1
C. §a1 &5 &1 D. 579 ®1§ gl

Has the maximum contribution in Bihar’'s income -

A. Agriculture Sector B. Industrial Sector
C. Service Sector D. None of these
AT 31 BT e 7 —

'
A TIHR DI AT B. TRaR &1 3my

C. gidoife SUHHEl DT AT D. Sded & IrEHE! P 3

National Income menas -

A. Government income

B. Household income

C. Income of Public Sector enterprises

D. Income of factors of production

feer 4 fow o @) gftaafed g geq s9 8 ?
A. ATer=T B. Jgard
C. ¥la= D. fRrasx

10



23.

24.

25,

Which district in Bihar has the lowest per-capita income?

A. Nalanda B. Rohtas
C. Siwan D. Shivhar
H&T P Uread ©9 & —

A. 989 91g B. Ryaa
C. 9% &l D. 3—qgT

The oldest form of money is -

0
A. Precious metals B. Coins

C. Commodity money D. Paper money

g1 &1 e &1 de—w1 © ?
A g BT Gog B. faeifed 9= &1 o4
C. o9 &1 gxIaRl D. fafwa &1 AregH

What is the Primary function of money ?

A. Store of value B. Value of delayed payment
C. Transfer of value D. Medium of exchange

fafer umer ga1 @14 € ?

A. 9 3R e B. 9%

C. 9% gUe D. g

11



26.

27.

28.

Which is legal tender money ?
A. Currency Notes and Coins B. Cheque
C. Bank drafts ‘ D. Hundi

T B YA S qTel T T & —
A. 999 B eHaT B. 9d @1 g2
C. ¥ % g D. & & &

The main element affecting savings is -

L

A. The ability to save B. Desie to save

C. The facility of bank . D. All three

fairg Qareii @Y smavgsar B & —

A. faaal o B. @aifis HemHt o
C. PR &I D. g7 it

Need for Financial services arises for -

A. Individuals B. Commercial institutions

C. Government D. All of these

STH HRRITTT fas &7 9 #)F & ?
A. HETSH B. WIEPR
C. aaiya 95 D. Ut

12



29.

30.

31.

Which of these is source of institutional finance?

A. Mahajan B. Moneylender
C. Commercial Bank D. Mefchants
faer & &= arfior ot 3 5= @ —

A 3 B. 5

C. 10 D. 15

The number of Regional Rural Banks in Bihar is -
'

A. 3 B.5
C.10 D. 15
R H AEBINT BT ARA g3 —

A. 1901 B. 1904
C. 1912 D. 1915

In India Cooperatives started in -
A. 1901 B. 1904

C. 1912 D. 1915

ARG WRER 7 69 UHR o1 Ren ) 6ifde (fer o o fear & ?

A RS e B. areafae e
C. S=a fRren D. d&-ier R

13



32.

33.

34.

Which kind of education has been declared fundamental right by

Government of India?
A. Primary education B. Secondary education

C. Higher education D. Technical education

e auf 4 feer @ 5w &3 @1 waifte faerd gam 8 ?

A ot &= B. aleifire &

C. a1 &= D. g% ®Ig el

In recent years which sector in Bihr has developed the most?

A. Agriculture sector B. Industrial sector

C. Service sector D. None of these

A%4IPoT B Poawy g7 3 @ Surel B & gfoaut —

A. & Rl B. 9% SITgHl
C. gcdl—dedr &l D. #§ ®1g uRa<= =&l g

As a result of globalization competition between producers of two

countries will -

A. Decrease B. Increase

C. Keep increasing and decreasing D. No change will occur
freifea § 9 Igsg A 7

A wis Aicd B. ®IHT—ahlell

C. d#ET D. 374 941

14



35.

36.

37.

Which of the following is a Multinational Company ?

A. Ford Motors B. Coca-Cola
C. Samsung D. All.of these
AR P 4= anffe Ay F1 3T 8 -

A. SERIBRT B. fersitexor
C. dediaxur D. g% |+

Is a part of the government’s New-Economic Policy -

A. Liberalization B.Privatization
C. Globalization D. All of these
IqiEre ® WY & I WD § —

A. Ag—drer § & B. fiemace

C. Y¥He TR D. 398 it

The main ways of exploitation of consumers is -

A. lower weights and measurements B. adulteration
C. misleading advertisement D. All of these
e 291 &1 e faera &1 A™ B —

A TR 3T B. g9

C. fafsarr D. SS9

15



38.

39.

The measurement of Economic development of a country depends

is -
A. National income B. Saving
C. Investment D. Consumption

qwTa 'Poverty and Unbritish Rule in India’ & a@® &9 & ?
A. TTeT 918 ARl B. Sfo &1 &. aR. @1 v@
C. wo 9. . #ETefed D. 379 ¥ I3 A8l

Who is the writer of the book ‘Povgerty and Unbritish Rule in India'?
A. Dadabhai Naoroji B. Dr. V.K.R.V. Rao
C. Prof. P.C. Mahalanobise D. None of these

TeT 9 ARG ¥ URG @ ufa—afi aiffe sma B e g
foar ?

A. 20 &Uar B. 10 ®7d

C. 30 W D. 50 ¥4

Dadabhai Naoraji estimated India’s per-capita annual income to

be?
A. 20 rupees B. 10 rupees

C. 30 rupees D. 50 rupees

16



40.

41.

42.

aRd § Fdued & af I 3y &1 A T AT ?

A. 1868 B. 1878

C. 1888 D. 1898

In India in which year was India’s National Income estimated for

the first time?
A. 1868 B. 1878

C. 1888 D. 1898

Wwﬁwwﬁi@ﬁm?ﬂﬁﬁmmﬁmﬁmmﬁ
far?

A T_T 9T ARG B. f &t @. R 9. ¥@

C. mn. . . wErerfew D. &7 ¥ BIg &l

Under whose Chairmanship was the National Income Committee

constituted by the Government of India in 1949 ?
A. Dadabhai Naoroji B. Dr. V.K.R.V. Rao
C. Prof. P.C. Mahalanobis D. None of these

I BI 99 U= gT P QAT FXA &l $9 qAT B T K A
- g

A. afrfera gl B. 7&f afffera grft

C. & & #orgql § Aftnfera 8 D. 3799 @IS e

17



43.

44.

45,

If a nurse takes care of her child, then in National income

accounting this service -
A. will be included B. will not be included
C. is included in the wages of the nurse D. None of these

e T B srfarawen b1 Aewayyl snfaweR & ?
A ¥gT B. Sud
C. fafarr D. STHIT

0
Is an important invention of modern era economy ?
A. Money B. Saving
C. Investment D. Consumption

faffmg & fea wU 8 ?

A <l B. @R

C. ufa D. ¥ ®Ig el

How many forms of exchange are there ?

A. Two B. Four

C. Five D. None of these

o1 98 & O a1 &1 B F 17 IE B [hadr 7 ?
A Hio #Teid B. Mo e fagst

C. W0 PSR D. 374 &g 78l

18



46.

47.

48.

Who stated that, ‘Money is what money does’?

A. Prof. Marshall B. Prof. Hartley Withers

C. Prof. Crowther D. None of these

famia <o @ srRivia Seer o1 e W SRk vEdar & —

A HfY &= B. aMehfes &
C. Jar & D. 3 3¥ et

Majority of working population of developed countries is engaged

'

in-
A. Agriculture Sectror B. Industrial Sector
C. Service Sector D. None of these

fazg Swiie AffHR feaw w9 AT oI @ 7

A. 15 SR B. 15 A

C. 15 anid D. 15 fesisx

When is World Consumer Rights day celebrated?
A. 15 January B. 15 March

C. 15 April D. 15 December
R H ST |RevT s w9 wiRa g —

A. 1982 B. 1984

C. 1986 D. 1991

19



49.

50.

In India Consumer Protection Act was passed in -

A. 1982 B. 1984

C. 1986 D. 1991

ST IUHFIT BUelTsT Ho FT 8 ?

A. 100 B. 1000-100

C. 1800—11—4000 D. 20,00—11,4000

What is National Consumer Helpline number?
A. 100 B.'1000-100
C. 1800-11-4000 D. 20,00-11,4000

1 BRA § fbem ou 96 B 9% DT RIS SUHER T R qhar

g7
A. %0 20 ARG dH B. %0 20 o’ | ®0 1 PRIS
C. %0 1 PIS I AD D. 579 9t

What is the value of good for which a consumer can make a

complaint in District Forum?

A. Rs. 20 lakh B. Rs. 20 lakh to Rs. 1 crore

C. about Rs. 1 crore D. All of these

20



Hvs—49 (Section-B)

¥ SN 93 (Short Answer Type Questions)

Y W 1 W 22 T Y SO B Dy &) 3 W R 15 gt B S
< 9% U & fow 2 aie fwiRa # (15x2=30)

Question no. 1 to 22 are Short Answer Type. 'Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1, YofiareY srefagavern wr & ?
What is a capitalist economy?
2, refeqawen | 3Ty T HIA & ?
What do you mean by an economy?
3. gad e @ g ?
What is sustainable development?
4. i fao | amer Far gHs § ?
What do you mean by economic planning?
5. NS Sy T € 7
What is National Income?
6. 96 FT 7 ?
What is a bank?
7. SIS HIE T & ?

What is Credit Card?

21



10.

y i

12

13.

14.

15.

16.

17.

anfie SmenRe A= &7 B 7

What is economic infrastructure?

yfey =fd ama & oMy Far |He © 7

What do you mean by per capita income?

F—fafma gomel @ @ ?

What is Barter-system?

a1 B gt @ Bt B o |

Write any two functions of money.

ARG T AT G § ? !

What do you mean by credit?

R ERmTd fad (G H8ro | 1) o @ /1 JhE B 7
What are the losses of non-institutional finance (like loan from
money lender)?

SE—ar | MY R FES B ?

What do you mean by Out-Sourcing?

IR—TRBRY AT 5 ded § 2

What is Non-government service?

RSATR’ 3R Far § 77 Heer 2 ?

What is relationship between ‘Employment’ and ‘Service'?
faea IR Hred w1 € ?

What is World Trade Organisation?

22



18.

19.

20.

21.

22.

fArSieRoT & 39 97 T § 7

What do you mean by Privatisation?

fagef faw 7 8 7

What is foreign investment?

SUHITT GRET ARFE Iuwa $Y e avE @ Wed qar g ?

What relief does the Consumer Protection Act gives to the
Consumser?

SUHIT B B ?

Who is a Consumer? N

I BT AER FT 8 7

What is Right to Information?

23



e 3T v (Long Answer Type Questions)
9T GE&T 23 ¥ 30 a9 <Y SONY B By &1 39 W R 4 g B 9
3| vdd uH @ forw 5 oiw fAuifRa 2 (5x4=20)

Question no. 23 to 30 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. (5x4=20)

23, onfdfe faera @ 2 ? wHs |
What is economic development? Explain.
24, 3 AR AN H FuT e B ?
What is the relationship between income and poverty?
25.  aug—faferr yomelt A @ar Sl o1
What were the shortcomings of barter-system?
26. AEEIRS S A T T BT U BN |
Describe the main functions of Commercial Banks.
07, e R ? ARG @ b # sHT e © ? v R |
What is globalization? Discribe it’s role in development of India.
28. IR—TRBRT a1 T 2 ? SHS Hewd Bl faden |
What is non-government service? Describe it's importance.
29,  arefcyawen § a1 &9 @ HEw W VS wfera fewefl ford |
Write short note on importance of Service Sector in the economy.
30, QTN @ 97 ARBR § ? IIATER gRI WL N |

What are the rights of Consumer? Explain with example.
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